Transfers Report

This report contains the transfers results.

Contest Name	Ward 13 - Inverness West
Valid Votes	3,486
Positions to be Filled	3
Quota	872

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Bill BOYD	Scottish National Party (SNP)		722
Allan DUFFY	Independent		130
Adie EGHTEDAR	Scottish Labour Party		235
Alex GRAHAM	Liberal Democrat Focus Team		964
Cath MACINNES	Scottish National Party (SNP)		300
Fergus MACKENZIE	Scottish Conservative and Unionist		416
Graham ROSS	Independent		719
		Total	3,486

Candidate Alex GRAHAM Elected with 964 votes, being in excess of the quota of 872

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Alex GRAHAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOYD	61	0.09543	5.82123
Transfer to Allan DUFFY	98	0.09543	9.35214
Transfer to Adie EGHTEDAR	104	0.09543	9.92472
Transfer to Alex GRAHAM	0	0.00000	0.00000
Transfer to Cath MACINNES	51	0.09543	4.86693
Transfer to Fergus MACKENZIE	163	0.09543	15.55509
Transfer to Graham ROSS	340	0.09543	32.44620
Value of non-transferable ballot papers			14.03369
	Total		92.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Allan DUFFY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOYD	15	0.09543	1.43145
Transfer to Bill BOYD	23	1.00000	23.00000
Transfer to Adie EGHTEDAR	16	1.00000	16.00000
Transfer to Adie EGHTEDAR	8	0.09543	0.76344
Transfer to Alex GRAHAM	0	0.00000	0.00000
Transfer to Cath MACINNES	4	0.09543	0.38172
Transfer to Cath MACINNES	12	1.00000	12.00000
Transfer to Fergus MACKENZIE	13	1.00000	13.00000
Transfer to Fergus MACKENZIE	8	0.09543	0.76344
Transfer to Graham ROSS	48	0.09543	4.58064
Transfer to Graham ROSS	52	1.00000	52.00000
Value of non-transferable ballot papers			15.43145

Total

139.35214

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Adie EGHTEDAR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOYD	4	0.09543	0.38172
Transfer to Bill BOYD	30	1.00000	30.00000
Transfer to Allan DUFFY	0	0.00000	0.00000
Transfer to Alex GRAHAM	0	0.00000	0.00000
Transfer to Cath MACINNES	28	1.00000	28.00000
Transfer to Cath MACINNES	3	0.09543	0.28629
Transfer to Fergus MACKENZIE	30	0.09543	2.86290
Transfer to Fergus MACKENZIE	41	1.00000	41.00000
Transfer to Graham ROSS	80	1.00000	80.00000
Transfer to Graham ROSS	35	0.09543	3.34005
Value of non-transferable ballot papers			75.81720

Total

261.68816

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Graham ROSS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOYD	43	0.00207	0.08901
Transfer to Bill BOYD	126	0.02172	2.73672
Transfer to Allan DUFFY	0	0.00000	0.00000
Transfer to Adie EGHTEDAR	0	0.00000	0.00000
Transfer to Alex GRAHAM	0	0.00000	0.00000
Transfer to Cath MACINNES	102	0.02172	2.21544
Transfer to Cath MACINNES	44	0.00207	0.09108
Transfer to Fergus MACKENZIE	101	0.00207	0.20907
Transfer to Fergus MACKENZIE	200	0.02172	4.34400
Transfer to Graham ROSS	0	0.00000	0.00000
Value of non-transferable ballot papers			9.68157

Total

19.36689

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Cath MACINNES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOYD	22	0.00207	0.04554
Transfer to Bill BOYD	62	0.02172	1.34664
Transfer to Bill BOYD	36	0.09543	3.43548
Transfer to Bill BOYD	287	1.00000	287.00000
Transfer to Allan DUFFY	0	0.00000	0.00000
Transfer to Adie EGHTEDAR	0	0.00000	0.00000
Transfer to Alex GRAHAM	0	0.00000	0.00000
Transfer to Fergus MACKENZIE	7	1.00000	7.00000
Transfer to Fergus MACKENZIE	3	0.09543	0.28629
Transfer to Fergus MACKENZIE	8	0.02172	0.17376
Transfer to Fergus MACKENZIE	2	0.00207	0.00414
Transfer to Graham ROSS	0	0.00000	0.00000
Value of non-transferable ballot papers			48.54961
	Total		347.84146